MCQ — (,\/Low’yzv 4

Gwste~ L

Ax = 6.5 Cmn
AT - koo — DLOO = \6oo X

© T .

BE = -l Tos &

Mo ok 0h Mfom ) -

(MG\L', \/\SW‘\\\\“\/L“ 'S j\VM/\A

Gued_ 2. Ay = 7.2 Com

T = mj_qu? 13.72 N

(F) 13,22 N _ Lq J\%m
*) \(A ><\~ 2.2 Cm

V h) e —=12.20m F=C
(>

O

b v = i~i§f——N——:Q\h\/ ks

0 A.g Nta

Gued 3

q\w:FN@se :(mﬂxbrﬁ(;g\/o“/j )

W= (4 x T 5) (amolS ) = 593

@ ) Tua S Claladios Q’xﬁfJL 6 = 50> wd
&=~ =y W=-597



Gues
~ = SX\OW{S M

\ug WS Wk»ﬁvxujva\ﬂo_weu . k k
w= Dk - W= )
2 vl
! Z_»\ L. _\vnQ —\.
W‘:., _im\/’F 2
@ W= l X\ 67Xty 5% KSX\O —(3 m)l
Wa-legx S _
wo T

Wie USe Wk —<05))
o W(‘/L\ﬂ“@&‘\" pF:

\W&»ﬁm 7 oW 3
\/\)/—%(Z&ﬂ) - My ‘ch AW%{:(&:;@%Q@B

o



Guestirb

m= Z\C} K=You T A’iﬁ
B

§ Ry

%OO ~/QO YN
- \koo =7 3 - ZKQT

W\f;)va
- 2 X ot 7
—_ — - D) N
&\\‘153%_7 \C\':Q‘L)Q\u \ J o= \
" G
Q) T Satee Ll 1O G @zx\:\
_ ko =7 (L& 7)((0 )QR Oy
~ v - k. = m)I- 3
6 ) v
- (24}
2\?:\3"55(\« =305
n) \ > \ Jfﬁ ;J 2xbx0 s
K=gmV, 7 o m woxw %
-
GMQ—BR% <Q\00)l / A
ko~ U
/S/A*\)Pr = BNy L=



By¥a ke Yoo Gar oot b AR B, W= DU
W= m@%: ((eoo XC(-TS\ X3 :2-{(,(00 J

Since W1 Yoins & a CMQW} S(fa%&/ 0= /\H)\u_&

Nz Ny bﬁ*“\zw
VN > o
6 NI e T

— W 29€o J _ ‘\/\/q“\\Lj
=) P = e ~ 5¢9o

5 S = s-akuw
( _ , S¢go Walls - \,\
AN &/\QD R ?: m _ 7~ q p
Y% 14/(




(QueSF \)

-

¥k
m= 5 X o

W= T by lsE

€ac

- (\000 N3<‘S\)> (ggk@j;

>
@ - 106 Xts 3

3
WAWARJL = lob Xw W2z 212 Xy 5 =2\ )
&\Atst\g T =2\
/’ﬂiC
C‘S W = Ny /;)/'
5(' L — B)C = > <2\><O%S>:‘k¥—\ "
Pgrus& -
) -
N \%:9-7 )
2 N 25:
b) k_clﬁ\iw\\f? - g,Jm
~jl(0’7) 2837

1o S



